

Notes

On the LU factorization of the Vandermonde matrix

Sheng-liang Yang

Department of Applied Mathematics, Lanzhou University of Technology, Lanzhou, Gansu, 730050, PR China

Received 12 January 2004; received in revised form 5 August 2004; accepted 31 August 2004

Available online 5 November 2004

Abstract

In this paper, the author gives a simpler alternative approach to the LU factorization and 1-banded factorization of the Vandermonde matrix, and obtains explicit formulas of the triangular factors and 1-banded matrices by using symmetric functions. © 2004 Elsevier B.V. All rights reserved.

Keywords: Vandermonde matrix; Symmetric function; LU factorization

1. Introduction

Expressing a matrix as a product of a lower triangular matrix L and an upper triangular matrix U is called an LU factorization. Such a factorization is typically obtained by Gaussian elimination. If L is a lower triangular with unit main diagonal and U is an upper triangular, the LU factorization of a matrix is unique. Using symmetric functions, Oruç and Phillips [1] established the LU factorization of Vandermonde matrix, and the lower and upper triangular matrices are, in turn, factored into 1-banded matrices, and thus expressed the Vandermonde matrix as a product of 1-banded matrices. In this paper, using symmetric functions and linear algebra, we find a shorter proof of the result on the LU factorization of the transpose of the Vandermonde matrix. This leads to greater simplification of the further factorization into 1-banded matrices.

Let n be a positive integer. For integers $1 \leq r \leq (n + 1)$, the r th elementary symmetric function on the variables set $\{x_0, x_1, \dots, x_n\}$ is defined by

$$e_r(x_0, x_1, \dots, x_n) = \sum_{0 \leq k_1 < k_2 < \dots < k_r \leq n} x_{k_1} x_{k_2} \cdots x_{k_r}, \quad (1)$$

and the r th complete symmetric function on the variables set $\{x_0, x_1, \dots, x_n\}$ is defined by

$$h_r(x_0, x_1, \dots, x_n) = \sum_{0 \leq k_1 \leq k_2 \leq \dots \leq k_r \leq n} x_{k_1} x_{k_2} \cdots x_{k_r}. \quad (2)$$

We set $e_0(x_0, x_1, \dots, x_n) = 1$, $h_0(x_0, x_1, \dots, x_n) = 1$. It is not hard to check that the elementary and complete symmetric functions satisfy the following recurrence relations (see [1]):

$$e_r(x_0, x_1, \dots, x_n) = e_r(x_0, x_1, \dots, x_{n-1}) + x_n e_{r-1}(x_0, x_1, \dots, x_{n-1}), \quad (3)$$

$$h_r(x_0, x_1, \dots, x_n) = h_r(x_0, x_1, \dots, x_{n-1}) + x_n h_{r-1}(x_0, x_1, \dots, x_{n-1}). \quad (4)$$

Let $R_n[x]$ be the vector space of polynomials in x over the real number field R of degree at most n , and let x_0, x_1, \dots, x_{n-1} be arbitrary real numbers. Then the sets $B_1 = \{1, x, x^2, \dots, x^n\}$ and $B_2 = \{[x]_0, [x]_1, \dots, [x]_n\}$ are both bases for $R_n[x]$, where

E-mail address: slyang@lut.cn (S.-l. Yang).

$[x]_r = (x - x_0)(x - x_1) \cdots (x - x_{r-1})$ for $1 \leq r \leq n$, and $[x]_0 = 1$. Considering the relation between the two bases, we can easily get the following theorem.

Theorem 1. For $m = 0, 1, \dots, n$,

$$[x]_m = \sum_{k=0}^m (-1)^{m-k} e_{m-k}(x_0, x_1, \dots, x_{m-1}) x^k, \tag{5}$$

$$x^m = \sum_{k=0}^m h_{m-k}(x_0, x_1, \dots, x_k) [x]_k. \tag{6}$$

The $(n + 1) \times (n + 1)$ matrices $Q_n = Q_n[x_0, x_1, \dots, x_{n-1}]$ and $L_n = L_n[x_0, x_1, \dots, x_{n-1}]$ are defined as

$$Q_n(i, j) = \begin{cases} 1 & \text{if } i = j, \\ (-1)^{i-j} e_{i-j}(x_0, x_1, \dots, x_{i-1}) & \text{if } i > j \geq 0, \\ 0 & \text{otherwise,} \end{cases}$$

$$L_n(i, j) = \begin{cases} 1 & \text{if } i = j, \\ h_{i-j}(x_0, x_1, \dots, x_j) & \text{if } i > j \geq 0, \\ 0 & \text{otherwise.} \end{cases}$$

Corollary 1. The transition matrix from the basis $B_1 = \{1, x, x^2, \dots, x^n\}$ of $R_n[x]$ to the basis $B_2 = \{[x]_0, [x]_1, \dots, [x]_n\}$ of $R_n[x]$ is the matrix Q_n . The transition matrix from the basis B_2 back to the basis B_1 is the matrix L_n .

2. The LU factorization of the Vandermonde matrix

Let $V_n = V_n[x_0, x_1, \dots, x_n] = (x_j^i)_{0 \leq i, j \leq n}$ be a $(n + 1) \times (n + 1)$ Vandermonde matrix with distinct $x_0, x_1, \dots, x_n \in R$. In [1], the symmetric functions have been used for the LU factorization of the transpose of the Vandermonde matrix V_n . From Eq. (6) we have $x_j^i = \sum_{k=0}^i h_{i-k}(x_0, x_1, \dots, x_k) [x_j]_k, i, j = 0, 1, 2, \dots, n$. Thus we have the following modification of the Theorem 2.1 of [1].

Theorem 2. The $(n + 1) \times (n + 1)$ Vandermonde matrix V_n can be factorized as $V_n = L_n U_n$, where $L_n = L_n[x_0, x_1, \dots, x_n]$ is a lower triangular matrix with units on its main diagonal, the (i, j) -entry of L_n is $L_n(i, j) = h_{i-j}(x_0, x_1, \dots, x_j), i \geq j$, and $U_n = U_n[x_0, x_1, \dots, x_n]$ is an upper triangular matrix, and the (i, j) -entry of U_n satisfy $U_n(i, j) = [x_j]_i = (x_j - x_0)(x_j - x_1) \cdots (x_j - x_{i-1}), i \leq j$.

Example 1. For $n = 3$ we have

$$V_3 = \begin{pmatrix} 1 & 1 & 1 & 1 \\ x_0 & x_1 & x_2 & x_3 \\ x_0^2 & x_1^2 & x_2^2 & x_3^2 \\ x_0^3 & x_1^3 & x_2^3 & x_3^3 \end{pmatrix} \quad \text{and} \quad V_3 = L_3 U_3,$$

where

$$L_3 = \begin{pmatrix} h_0(x_0) & 0 & 0 & 0 \\ h_1(x_0) & h_0(x_0, x_1) & 0 & 0 \\ h_2(x_0) & h_1(x_0, x_1) & h_0(x_0, x_1, x_2) & 0 \\ h_3(x_0) & h_2(x_0, x_1) & h_1(x_0, x_1, x_2) & h_0(x_0, x_1, x_2, x_3) \end{pmatrix}$$

$$= \begin{pmatrix} 1 & 0 & 0 & 0 \\ x_0 & 1 & 0 & 0 \\ x_0^2 & x_0 + x_1 & 1 & 0 \\ x_0^3 & x_0^2 + x_0 x_1 + x_1^2 & x_0 + x_1 + x_2 & 1 \end{pmatrix},$$

$$U_3 = \begin{pmatrix} [x_0]_0 & [x_1]_0 & [x_2]_0 & [x_3]_0 \\ 0 & [x_1]_1 & [x_2]_1 & [x_3]_1 \\ 0 & 0 & [x_2]_2 & [x_3]_2 \\ 0 & 0 & 0 & [x_3]_3 \end{pmatrix} \\ = \begin{pmatrix} 1 & 1 & 1 & 1 \\ 0 & x_1 - x_0 & x_2 - x_0 & x_3 - x_0 \\ 0 & 0 & (x_2 - x_0)(x_2 - x_1) & (x_3 - x_0)(x_3 - x_1) \\ 0 & 0 & 0 & (x_3 - x_0)(x_3 - x_1)(x_3 - x_2) \end{pmatrix}.$$

We define the $(n + 1) \times (n + 1)$ matrices $H_n[x_0, x_1, \dots, x_{n-1}]$, $T_n[x_0, x_1, \dots, x_n]$, $\overline{L_{n-1}}[x_0, x_1, \dots, x_{n-2}]$, $\overline{U_{n-1}}[x_1, x_2, \dots, x_n]$ by

$$H_n[x_0, x_1, \dots, x_{n-1}](i, j) = \begin{cases} 1 & \text{if } j = i \\ x_j & \text{if } i = j + 1, \\ 0 & \text{otherwise.} \end{cases} \\ T_n[x_0, x_1, \dots, x_n](i, j) = \begin{cases} 1 & \text{if } j = i = 0 \text{ or } j = i + 1, \\ x_i - x_0 & \text{if } j = i > 0, \\ 0 & \text{otherwise.} \end{cases} \\ \overline{L_{n-1}} = \begin{pmatrix} 1 & 0 \\ 0 & L_{n-1} \end{pmatrix}, \quad \overline{U_{n-1}} = \begin{pmatrix} 1 & 0 \\ 0 & U_{n-1}[x_1, \dots, x_n] \end{pmatrix}.$$

Lemma 1. (a) $L_n = \overline{L_{n-1}}H_n$; (b) $U_n = T_n\overline{U_{n-1}}$.

Proof. (a) We show that the (i, j) entries on both sides are equal. Since the product of the two lower triangular matrices is again lower triangular, it suffices to consider $i \geq j$.

If $i = 0$, then $(\overline{L_{n-1}}H_n)(0, 0) = 1 = L_n(0, 0)$.

If $i > 0$,

when $j = 0$, $(\overline{L_{n-1}}H_n)(i, 0) = \overline{L_{n-1}}(i, 0)H_n(0, 0) + \overline{L_{n-1}}(i, 1)H_n(1, 0) = 0 + h_{i-1}(x_0)x_0 = h_i(x_0) = L_n(i, 0)$;

when $j = i$, $(\overline{L_{n-1}}H_n)(i, i) = \overline{L_{n-1}}(i, i)H_n(j, j) = 1 = L_n(i, i)$;

when $j < i$, $(\overline{L_{n-1}}H_n)(i, j) = \overline{L_{n-1}}(i, j)H_n(j, j) + \overline{L_{n-1}}(i, j + 1)H_n(j + 1, j) = h_{i-j}(x_0, x_1, \dots, x_{j-1}) + h_{i-j-1}(x_0, x_1, \dots, x_j)x_j = h_{i-j}(x_0, x_1, \dots, x_j) = L_n(i, j)$.

(b) To show the equality of the (i, j) entries on both sides, it suffices to consider $i \leq j$. If $i = 0$, then $(T_n\overline{U_{n-1}})(0, j) = T_n(0, 0)\overline{U_{n-1}}(0, j) + T_n(0, 1)\overline{U_{n-1}}(1, j) = 1 = U_n(0, j)$.

If $i > 0$,

when $j = i$, $(T_n\overline{U_{n-1}})(i, i) = T_n(i, i)\overline{U_{n-1}}(i, i) = (x_i - x_0)(x_i - x_1) \cdots (x_i - x_{i-1}) = U_n(i, i)$;

when $j > i$, $(T_n\overline{U_{n-1}})(i, j) = T_n(i, i)\overline{U_{n-1}}(i, j) + T_n(i, i + 1)\overline{U_{n-1}}(i + 1, j) = (x_i - x_0)(x_j - x_1)(x_j - x_2) \cdots (x_j - x_{i-1}) + (x_j - x_1)(x_j - x_2) \cdots (x_j - x_{i-1})(x_j - x_i) = (x_j - x_0)(x_j - x_1)(x_j - x_2) \cdots (x_j - x_{i-1}) = U_n(i, j)$. □

From Theorem 2 and Lemma 1, we have the following modification of the Theorem 3.1 of [1].

Theorem 3. The Vandermonde matrix V_n can be factorized into n 1-lower banded matrices and n 1-upper banded matrices such that

$$V_n = L_n^{(1)}L_n^{(2)} \cdots L_n^{(n)}U_n^{(n)} \cdots U_n^{(2)}U_n^{(1)}, \text{ where, for } 1 \leq k \leq n,$$

$$L_n^{(k)}(i, j) = \begin{cases} 1 & \text{if } j = i, \\ x_{j-n+k} & \text{if } i = j + 1, i \geq n - k + 1, \\ 0 & \text{otherwise.} \end{cases}$$

$$U_n^{(k)}(i, j) = \begin{cases} 1 & \text{if } j = i, j \leq n - k \text{ or } j = i + 1, j \geq n - k + 1, \\ x_i - x_{n-k} & \text{if } j = i, j > n - k, \\ 0 & \text{otherwise.} \end{cases}$$

Thus, $L_n = L_n^{(1)}L_n^{(2)} \cdots L_n^{(n)}$, and $U_n = U_n^{(n)} \cdots U_n^{(2)}U_n^{(1)}$.

Example 2. $V_3 = L_3 U_3$, and L_3 is factorized into 1-lower banded matrices, $L_3 = L_3^{(1)} L_3^{(2)} L_3^{(3)}$, where

$$L_3^{(1)} = \begin{pmatrix} 1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & x_0 & 1 \end{pmatrix}, \quad L_3^{(2)} = \begin{pmatrix} 1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \\ 0 & x_0 & 1 & 0 \\ 0 & 0 & x_1 & 1 \end{pmatrix}, \quad L_3^{(3)} = \begin{pmatrix} 1 & 0 & 0 & 0 \\ x_0 & 1 & 0 & 0 \\ 0 & x_1 & 1 & 0 \\ 0 & 0 & x_2 & 1 \end{pmatrix}.$$

Similarly, U_3 is factorized into 1-upper banded matrices, $U_3 = U_3^{(3)} U_3^{(2)} U_3^{(1)}$, where

$$U_3^{(3)} = \begin{pmatrix} 1 & 1 & 0 & 0 \\ 0 & x_1 - x_0 & 1 & 0 \\ 0 & 0 & x_2 - x_0 & 1 \\ 0 & 0 & 0 & x_3 - x_0 \end{pmatrix}, \quad U_3^{(2)} = \begin{pmatrix} 1 & 0 & 0 & 0 \\ 0 & 1 & 1 & 0 \\ 0 & 0 & x_2 - x_1 & 1 \\ 0 & 0 & 0 & x_3 - x_1 \end{pmatrix},$$

$$U_3^{(1)} = \begin{pmatrix} 1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \\ 0 & 0 & 1 & 1 \\ 0 & 0 & 0 & x_3 - x_2 \end{pmatrix}.$$

Thus, $V_3 = L_3 U_3 = L^{(1)} L^{(2)} L^{(3)} U^{(3)} U^{(2)} U^{(1)}$.

Acknowledgements

This work is supported by Development Program for Outstanding Young Teachers in Lanzhou University of Technology and the NSF of Zhejiang Province of China. The author wishes to thank the referee for many valuable comments and suggestions that led to the improvement and revision of this paper.

Reference

- [1] H. Oruç, G.M. Phillips, Explicit factorization of the Vandermonde matrix, *Linear Algebra Appl.* 315 (2000) 113–123.